TeKCTUMNH XawunT

©reraceH TeKCT faxb “ xawunt 6ypuiar { acBan } xawuntaap CeenxneH connHo. Oepeep xanban axaHL TaapcaH “
XawnnTblr { -93p CONVHO, TAPHWIA Aapaar MAHXbIr } -93p, TOPHWIA Japaar MiHXbIr { -93p, TOPHWIA gapaar MiHxXbIr } -23p,
T3PHWIA fapaar uAHXbIr { -33p rax MaT YPrasiXuiHa.

Input
OponToHa X34 X349H Mepeec bypasx “ xawunTyyn aryyncaH TeKCT erereHe.
Output

,ﬂ,OOpX 2 3ynnuiar ac ToouBonN Ar OPONTOH OaXb TEeKCThbIlr 6yuaaH X3BN3H3.

o Xoc 6YpWiiH 3XHUIA “ xawunTelr { xaantaap CONUr LOHO.

e Xoc BypuiiH 2 faxb" XawunTbir } xaantaap ConurLOHO.
Example
Input:

"To be or not to be," quoth the Bard, "that is the question". The programming contestant replied: "I must disagree. To
'C' or not to 'C', that is The Question!"

Output:

{To be or not to be,} quoth the Bard, {that is the question}. The programming contestant replied: {I| must disagree. To
'C' or not to 'C', that is The Question!}
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